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SAT Circles

5 e

(x~6P +(p+5)P =16

In the xy-plane, the graph of the equation above isa
circle. Point P is on the circle and has coordinates
(10,~3). If PQ is a diameter of the circle, what are
the coordinates of point Q ?

A) (2,-5)

B) (6.-1)

C) (6,-5)

D) (6.-9)

A circle in the ay-plane has equation

(x+3)% + (y— 1)* = 25. Which of the following
points does NOT lic in the interior of the circle?
A) (-7,3)

B) (-3,1)

C) (0,0)

D) (3,2)

Points A and B lie on a circle with radius 1, and
arc AB has length -’;:- What fraction of the

e -
circumference of the circle is the length of arc AB ?
s

Gy G e G2

Gol= W

In a circle with center O, central angle AOB hasa /

measure of %’5 radians. The area of the sector
formed by central angle AOB is what fraction of the_

285° 4

360

area of the circle?

-
~

2
5

-

Note: Figure not drawn to scale.

In the circle above, point A is the center und the
length of arc BC i ; of the circumference of the

circle. What is the valueof x ¥

Point C is the center of the circle above. What
fraction of the area of the circle is the area of the

shaded region?

In the xy-plane, the graph of

2x% - 6x+ 2y° + 2y = 45 isacircle. Whatis the
radius of the circle?

A) S5

B) 65

C) Y46

D) V30




D
B B
Al
A
C

In the circle above, segment AB is a diameter. If the

length of arc ADB is 87, what is the length of the Point P is the center of the circle in the figure sbove.
radius of the circle? Whatis the value of x ?

A) 2

B) 4
C) 8 C\/ SN TV
D) 16 {; ;

In the figure above, point O is the center of the
circle, line segments LM and MN are tangent to the
circle at points L and N, respectively, and the
segments intersect at point M as shown. [fthe
circumference of the circle i@vhat is the length of
minor arc IN ?

In the xy-plane above, O is the center of the circle,
and the measure of ZAOB is — radians. What s
a

thevalueof a ?

Note: Figure not drawn to scale.

The circle above with center O has a circumference ’
of 36~ What is the length of minor arc Ac ¢ In the figure above, the circle has center O and has
A) 9 ’ o radius 10, If the length of arc AB (shownin bold) is
B 12 q 0 3 6 - between 5 and 6, what is one possible fnteger

C) 18 i @ bt valueof x ?

D) 36 3@@



Math Test - No Calculator

25 MINUTES, 20 QUESTIONS

Turn to Section 3 of your answer sheet to answer the questions in this section.

DIRECTIONS

For questions 1-15, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 16-20,
solve the problem and enter your answer in the grid on the answer sheet. Please refer to
the directions before question 16 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

1. The use of a calculator is not permitted.

2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale unless otherwise indicated.

4, All figures lie in a plane unless otherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f(x} is a real number.

£
'h
x\!‘%
A=z’ A=Llw A =Ebh E=a*+ b2 Special Right Triangles
C=2nr
= {wh V=nr? Vzgnr V--3~7zr 1ﬁwh

The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 2.
The sum of the measures in degrees of the angles of a triangle is 180.

Unauthorized copying or reuse of any part of this page is illegal. 38



